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TRIG RATIOS INVESTIGATION

For each of the triangles below, measure the 3 sides to the nearest centimeter and rec
of the lines provided.

1
ord your measurements

TRIANGLE A TRIANGLE B
r
X
Yy 20°
20° r Y
x
TRIANGLE A TRIANGLE B
x= f‘ . 3 x= EE 5
y=_1.0b e Jo
r= H- (0 r= 3 3 5
TRIANGLE C
TRIANGLE C
r = I ﬂ
y y=_2- 5
L
5l

2. For each triangle, find the indicated values. Round your answers to four decimal points.

TRIANGLE A TRIANGLE B TRIANGLE C
z
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3. Whatdoyou notice about the answers for question 2 from Triangle A, Triangle B, and Triangle C?

X 35S abowk dme Same heall-
Y/r 1 n

0" (" w n

iy
o ut o 1" 4
Vs .
In each of the three right triangles the there is a 20°angle, which we will
uselected” angle.

4. For each of the three right triangles, which of the labeled sides would be the hypotenuse? ) o

ider to be the

5. In relation to the 20°, where are you able to find the following sides:

. gd’;auw\f y-__Opposi t&
For the following questions you will need your graphing calculator. The calculator must be
IN DEGREE MODE before you plete the following problems.

THERE ARE THR EE TRIGONOMETRIC FUNCTIONS THAT ARE STUDIED IN MATH 2. THEY ARE SINE
(ABBREVIATED SIN), COSINE (ABBREVIATED COS), AND TANGENT (ABBREVIATED TAN).

6. Find the values of the following expressions. Round each of the answers to four decimal places.

a. Sin(20‘)=_&£o b. Cos(20°)= laq.? c. Tan(20)=_* quo
makthes Fy makthes y ma fhes )&

7. How do the answers for question 6 compare to the answers you found in question 2?

Sine = opposit
hﬂpoﬂﬂuse

coSine = ad\ja“n"‘

'ﬂjpo{'Cn use
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